PRINCIPLES OF TECHNOCLOGY
Chapter 2 Work
Test Review
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Chapter 2 Test Review
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Chapter 2 Test Review

Re-arrange the equations to solve for all variables

Open Fluid System Closed Fluid System
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Chapter 2 Test Review

Formula for electrical work (and solve using the units)
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Formula for electrical charge (and solve using the units)
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How much work does an air conditioner (pressure = 33.83 Ibs/ft2) do to completely replace the
air in a room which measures 17 feet by 32 feet by 8 feet?
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A pressure of 337 Ib/in® is applied to the face of a piston in a closed hydraulic cylinder, causing
a total force of 32.27 1b. on the face of the piston. Calculate the following:
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¢. The volume of fluid displaced when the piston moves 9.3 inches.
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Chapter 2 Test Review

dosed.

d. The fluid work done by the piston when moving the 9.3 inches.
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How much work is needed to recharge a dead 12 volt battery if it can hold 24,000 coulombs of
charge?
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Nathan is using a 110 volt AC Skilsaw which draws 13 amps. He 6perates it for 2 minutes while

attempting to cut out some plywood shelving. Assuming he doesn't cut off his foot in the
process, how much charge is moved, and how much work is done moving it?
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Also Review all examples in Chapter 2
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